
MATH 113: Voting Theory lecture notes Day 4

1. Complete the Borda Method on the preference schedule below. Is there anything that bothers
you about the winner?

21 10 9
1st A B B
2nd B C C
3rd C A A

2. (Ex 11) Below is a preference schedule (left) and one-to-one comparisons (right).

5 5 6 4
1st D A C B
2nd A C B D
3rd C B D A
4th B D A C

A vs B: 10 to 10
A vs C: 14 to 6
A vs D: 5 to 15
B vs C: 4 to 16
B vs D: 15 to 5
C vs D: 11 to 9
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Problem ? A has a majority of the votes
.

The Majority Criteria : If a candidate wins a majority ,
then the

candidate should win .

tie points

A  wins A :42+1=3/2&
X

D wins B : Yztl = 312
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C wins

what happens if D drops out ?
A losing candidate

points A  
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Independence of Irrelevant Alternatives Criteria C

IIA
)

says that  if  irrelevant C non - winning ) candidates ate added or

drop  out
,

the winner shouldn't  change
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3. Approval Voting

30 15 10 10
Anchorage X X
Bettles X X X
Chevak X X
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Count the number of approvals :

A : 30+15=45

B : 30 t lot to go ←
winner .

C : 15+10=25

Vulnerable to Insincere Voting
What  if the 30 votes in column I prefer A to B ?

By withholding approval for B
, they can guarantee their

preference .

( Think scheduling software . )


